Ml & Ol &8 AF S H Al A
014G =0a DEANY S8
SN DEHHY
1200 Melal
210 ZAEM ALY
8 o211 MaTia (crol @el)
SH-Z-B-B-2 ol & A & Of Ak ot Rz 2t
& A 19,749,407 16,065,880 3,683,527
ME=S-1Shnl; 19,749,407 16,065,880 3,683,527
200 M2l 11,466,535 10,235,080 1,231,455
210 BTN 2 == 2,837,033 2,764,080 72,953
211 THAH O ==& 384,859 378,239 6,620
211-02 SRS U= 384,859 378,239 6,620
OAUBA SSEEX ARSI U2
39,140,000& * 13l 39,140
OAIQABAHDIE HXUHE AIES 66,000,000& * 43| 264,000
OAUBA SSEEK NGERA ARSI AUE
6,233,000 6,233
OAUBA SREET ARSI L2
22,466,000& * 13 22,466
ODNEHAHIY HEFUE Aeniae
13,255,000& * 43| 53,020
214 M= 2,351,074 2,261,341 89,733
214-09 J|EtAL R ==& 2,351,074 2,261,341 89,733
CNPEDELERCERENES PR 2,351,074
O E & A HI 2,351,074,000& 2,351,074
215 w23+ 600 20,000 A 19,400
215-01 d=+=123+¢ 600 20,000 219,400
COFIFUSANERYES 300,000& = 23| 600
216 Ol Xt==¢ 100,500 101,500 A 1,000
216-01 230U S0l Xt =2 100,000 100,000 0
O30 I30IA=+g 100,000,000& 100,000
216-03 JIEOI Rt 500 500 0
O©JIEtOl At ==&d 500, 000& 500
220 A B A 2+ 8,629,502 7,471,000 1,158,502
222 R2E3 2,438,502 1,520,000 918,502
222-01 XM 2ARES 538,502 0 538,502
OFFEY NEHZZIZANLE SEAY 538,502
OHAAZ RE= 538,502,000& 538,502
222-02 L3 1,900,000 1,520,000 380,000
CuUuERLYRES 1,900,000
Oag7(1,20021) 700,000,000& 700,000
OEY7(1,75021) 1,200,000,000& 1,200,000
223 JIEt==¢ 3,961,000 3,721,000 240,000




SN DEHFY
& 200 Mel4gl
B 220 AANEN S
8 023 JIEI4 (9@
SN-F-B-8-2 0 &t o o s HInE=E
223-03 WEH = 3,886,000 3,646,000 240,000
OF& Xt <8t WEHz 3,280,000
Ooag+ 40,000& = 40,000 1,600,000
£49 40,000& = 42,000H 1,680,000
ONSHEHHA ST 218 DEAD(VSSSASL)
100,000& * 3,000 300,000
ONSHBYDL DR (HSSSALL)
100,000& * 3,00024 300,000
OGH(s12)22ALY 8 WEAS(AEF)
100,000& = 60A 6,000
223-04 B SsHLOI# L= 55,000 55,000 0
O (s2)2aAYY Fu BEINE)
100,000& * 300 30,000
ONSHEMHAZTY 910 HHS(NYSSAAL)
125,000& * 2004 25,000
223-09 O2=¢ 20,000 20,000 0
OJIE =¥ 20,000,000& 20,000
224 XA &= 2,230,000 2,230,000 0
224-01 NtAE ==¢ 2,230,000 2,230,000 0
OWEE MY 2,230,000
o= 30,000,000& 30,000
OXNSESEAE A 800,000, 000& 800,000
Ooag+ 600,000,000& 600, 000
Os4+ 800,000,000& 800,000
700 EMd+=ASHHE HH 8,282,872 4,992,800 3,290,072
710 Ed=2S 5,900,000 2,720,000 3,180,000
711 40z 5,900,000 2,710,000 3,190,000
711-01 =MAL W= 5,900, 000 2,710,000 3,190,000
O=NAHLHZ 5,900,000,000& 5,900,000
720 LHS 1 ch 2,382,872 2,272,800 110,072
721 M= 2,382,872 2,272,800 110,072
721-03 JIEtSI HE & = 2,382,872 2,272,800 110,072
oLt H &A= 2,382,872,000& 2,382,872




Hl = 0ol & AF & H Ml M
20149 & =0& DSAE SEE3lH &
2N NSHE
i Y 2IEH (nsSEHFH )

Gl JEP A (REAY SE3H) (el @e)
SH O (BH) - NEAY - B Ol &k i HRS2
mE==3-=1Shnl; 19,088,748 15,449,792 3,638,956
HY2HZH(LSHF D) 984,429 886,963 97,466

ol (NSAIY SE3H) 911,209 798,009 113,200
ol A Hl 909,349 796,149 113,200
101 el bl 909,349 796,149 113,200
02 JIEtA 2 = 49,105 46,881 2,224
OusEdz2a B 49,105
OHSAH 42,500,000 * 1H 42,500
OnEsxe 1,440
—Hi 2 Xt 40,0003 * 1H » 12& 480
-&EHl= 20,0003 * 4% = 128 960
OAl2tel =Y 7,630& = 30AI2t = 12 2,747
OZdZ Al 130,000& *» 12& 1,560
O A I 2 4|
42,500,000 = 66% * 1/12 = 1/30 = 11 858
03 RIAHAZZ2NE > 860,244 749,268 110,976
OFEX ANEchH02 738,095
ods(Ita) 452,370
-25E Xt 33,040,000 * 1H 33,040
194 Xt 29,140,000 = 2H 58,280
-184 Xt 28,490,000& = 1H 28,490
-174@ Xt 27,840,000 * 2H 55,680
-124@ Xt 24,590,000 * 2H 49,180
-11E Xt 23,940,000& = 29H 47,880
-104 Xt 23,290,000 * 29H 46,580
-9 Xt 22,640,000 * 494 90,560
-84 Xt 21,990,000& = 1H 21,990
-63 Xt 20,690,000 * 1H 20,690
Oo=¢ 103,211
-bEsY 12,240
- B X 40,0003 * 139 = 12& 6,240
- EHl S 20,000& * 25% = 12& 6,000
-HEIZZ2Y
8,950 * 18 «30Al2tx 123 57,996
-5g2EE
8,950& * 4AI2F « 18Y x 12& 7,733
PN =
29,790,000& / 3652 * 162 * 18Y 23,506
P IEEIPNE= 1,736
nE=3=1mi 433,880 * 18 * 43| 1,736
OYESItHl  452,370,000& /12 * 60% * 23] 45,237




2N NSHE
i Y 2IEH (nsSEHFH )
Sl ol (BEAY SEalH) (el @)
SH O (BH) - NEAY - B Ol &k i HRS2
O=&tl 120,000 = 128 » 18Y 25,920
Ol St 120,000& » 128 * 189Y 25,920
(OF=IESEag=y 100,000 * 2% = 12& 2,400
OJHAH X & 8l 175,000 * 18YH » 12& 37,800
o254 452,370,000& * 10% 45,237
ORIHA=ZZ A S &l 7,776
o=3 432,000 * 1H 432
oag+ 432,000 = 89H 3,456
ogg+ 432,000 * 9H 3,888
OFFNLERA 225 3,420
Oo=282= 90,000& * 18Y 1,620
ogst= 100,000& *» 18Y 1,800
O4UEE NXHAMEE 2 75,953
Oo=8as3z 738,095,000& * 4.5% 33,215
oung:2d 738,095,000 * 1.4% 10,334
O3UHLEH 738,095,000& * 2.9% 21,405
O&IRLEE 21,405,000& * 6.55% 1,403
OMSTHMNEES 738,095,000& * 1.3% 9,596
ORIIAHLZ 2 X E&Z 35,000,0008 » 14 35,000
palls]l 1,860 1,860 0
204 XA H| 1,860 1,860 0
02 Bz 2=l 1,860 1,860 0
OuNsSdEZHXUA 155,000& *» 12& 1,860
dH(RSANY S35 H) 73,220 88,954 AN 15,734
=&l 73,220 88,954 AN 15,734
201 L2l 30,400 29,914 486
01 At 22|l 26,974 26,488 486
oJleg:e +das Zl(JIFEZl) 9,694
o3 9,694,000& 9,694
oz (D= ) 17,280
o3 6,000 * 24 » 80 * 90% 10,368
oagd2Hd 6,000 * 8% » 80 * 90% 3,456
osg+3& 6,000& * 89 = 80 *» 90% 3,456
02 222gHt| 3,426 3,426 0
OHFAMNREH RAE =l 3,426
OdEFEHI 230,000& = 12& 2,760
OHEX= A 3,700,000& * 3CH * 6% 666
202 04 HI 36,720 37,440 AT20
01 SO YI 36,720 37,440 AT20
©J1=3&Hl 36,720




2N NSHE
i Y 2IEH (nsSEHFH )
Sl J2ZH(NSAIY SE3H) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
o3 20,000 » 24Y * 90 * 60% 25,920
odg+d 20,000& = 5% » 90 * 60% 5,400
(OF=3= s 20,0003 * 5% » 90 * 60% 5,400
203 R =&l 4,200 4,200 0
04 EA2EHRFEHI 4,200 4,200 0
OJI=H(HA 302 Olat &)
350,000 = 12& 4,200
405 XH&HF SH| 1,900 17,400 A 15,500
01 AL EZF SHI 1,900 17,400 A 15,500
O EFHSHI 1,900
OJelrsg aFH 1,300,000& * 1CH 1,300
O=2M MIEII 600,000 = 1CH 600
melst =128 &4 4,928,192 2,116,882 2,811,310
FAE M Y 2 (RSAMY SE3H) 199,647 228,988 A 29,341
FIE #25 199,647 228,988 A 29,341
201 B2 F bl 26,840 31,040 A4,200
01 AR 22l 25,280 29,480 A 4,200
OFXELX 8 2,000
OZ2date 100,000& * 1004 * 23] 2,000
OFd= II=ZSSsFIUE 2l 4,080
Os&EXN ¥ FLESES 40,000& = 12& 480
O3ax & A FZH
250,000 * 1A «12& 3,000
OYH &= 150,000& * 43| 600
OAl AZXNSA SSIHEFIE 22
400,000& * 401 * 12& 19,200
02 222Ztl 1,560 1,560 0
Oxds IIESS=NE HIIR=
100,000& * 12& 1,200
OFHES HEHBSENT £523
30,000& = 12& 360
204 X2 HH| 600 600 0
03 EEYFAHI 600 600 0
ONsSHEZHAZR HRE=H 50,0008 123 600
401 Al HIZ 20U YI 112,207 107,348 4,859
01 A& Hl 111,000 106,200 4,800
o== 55,000
OBt=ol Fxe &K L B2
17,000& = 3,000m 51,000
OFE3 EFNE A ANEES
4,000,000& * 14! 4,000
(OFSR=Eps 15,700




SN NSEI L

M3 Helw FRE 54
Sl FXE ZH Y B2(RSAY SBEA) (29l @)
SRS (SH) - NBAY - BES O AF 04 %gg HRs2
OLA - LA=XE &X ¢ %= 15,200
=& A 6,000,000& *= 24 A 12,000
-2 23| 400,000& * 8IH A 3,200
O3&X LAFXNE EXNE DH(SEA)
100,000& = 5 A~ 500
OFIATH 3,200
OLd - =& 4X L B+Hb|
400,000 * 8IH A 3,200
osg+3d 33,100
Oka - LAF=XE &X € HH| 22,000
-al A 6,000,000 * 304 18,000
-2 43 H| 400,000& = 1090 A 4,000
OL2A=XE B 285 &X
5,000,000& * 204 A 10,000
OZ2&HA LAIFXE ZXNE DH(SEA)
100,000& * 110 1,100
ONEFH 4,000
OLAFXE &X ¥ EFH|
400,000& * 1000 A~ 4,000
03 Al 20| 1,207 1,148 59
(OF=F= 605
OerEZEH F=XALY A& 208
56,000,000 * 1.08% 605
oadTHE 165
O - L AFXE &2 L HUIAIY AIER
CH Bl 15,200,000& * 1.08% 165
oOFATHA 35
O - LAFXE EX L HUAIY AIER
(i) 3,200,000 * 1.08% 35
o913 358
O - LAFXE EX L HUIAIYE A&
(sl 33,100,000& * 1.08% 358
ONR7E 44
OLs - LoIFXE 4% L FUAY AL
(iNs]l 4,000,000& * 1.08% 44
402 12t X2 0| & 60,000 90,000 A 30,000
01 212t X282 X 60,000 90,000 A 30,000
ORIt XI=28E X 60,000
OO0t0l & OO ZEAY X
3,000,000& = 2004 A 60,000
Z=HI HL(REAYE SEIIAH) 3,128,157 1,887,894 1,240,263
SYHFEX otH =X 1,825,719 1,597,077 228,642
201 L2yl 1,058,168 1,028,177 29,991
01 At 22| Hl 116,788 128,764 A 11,976




M NSHAH
Bu: HolE FXEY XA
el =X 2el(nSAY SE3H)
SH-EH-O(EH) - MBAY - BAS Off & o i
o= 16,878
O=ZX ZA&E g8 M 4,100
-&C 502 * 6,00000 * 3& 900
-ZItE 100,000& = 16904 = 23] 3,200
ONM2A=d XN H&2X P 2,100
-&aEX 90,000& = 1084 A 900
-EEE 100& = 12,00004 1,200
Ogrnee Nsit HEXHE 22 A 8,604
-0AM ZelH EY
220,000& = 200 * 123 5,280
-=SAMII EUYH 260,000& = 1CH *» 63 1,560
-SAMEX 21,0003 * 782FA « 123] 1,764
OANSENSA2SEN SEFE S|
6,000 * 8F = 4 » 12& » 90% 2,074
oag+3 38,024
OUEHE FUHY TUHsX AEH
80& = 20,0000H 1,600
Oy el 2 1,420
-OtHLH & 80& = 4,00004 320
-ZeHE 100,000& 7K 700
-AHIIEEHS 53 80& = 50000 = 105 400
Osdg=&8X LEHE DXNAM 22,176
“AMASEAM 90,0003 * 5& X * 12& 5,400
-2 BRI A 90,000& = 5& Xt * 12& 5,400
-=FIXA 90,0003 = 54X+ * 12 5,400
- SN 90,000 * 5& X * 12& 5,400
-012 & ™A 80& = 6000H * 12 576
OAg 2 BNE 50& = 8,0000H 400
OANMBIENH 2 A2FE FEXUEHS HEE =
ciItE 100,000 * 7oA * 13 700
OCUXIEAMZD AMEEHE 23 1,000
-Z 2 50,000& = 21 = 53| 500
-E 50,000& = 2J0 * 53] 500
OFEXNHES PRFE 2224 9,432
-AloldEZel e EY
220,000 = 4CH » 23] 1,760
“DAMERH EY
400,000& * 108 = 53] 2,000
—EHA EY 70,000& = 1CH = 43 280
-CCTVH=SEN =& 2Zt=Zeld EY 3,880
- Zet 300,000& = 2CH * 43| 2,400
S 185,000& = 2CH * 43l 1,480
-SALEZ X 21,0003 = &K » 123l 1,512




= A
M Hols ENEd X4
ol =FI Bel(REAY SEE) (el @e)
SRS (SH) - NBAY - BES O AF 04 %gg HRs2
SEEEEEEEEETRIEED
6,000 * 59 * 42 « 128 x 90% 1,296
OFHIATH 9,110
OUNEHE EUUHAT ISR AEIH
80& = 5,0000H 400
ORI dHEe g8 400
Ot 2 80& = 1,0000H 80
-EdIE 100,000& * 2J4 200
“ANAINIEHLSE 80& * 25000 * 65 120
O22Y=dX UEeiE XM 4,440
AL S 2 A 90,000& = 24X * 6 1,080
== XA 90,000& * 24Xt » 68 1,080
-8 XA 90,000& = 24X » 6 1,080
-2 E XA 90,000& = 24X * 68 1,080
-0l 2] & &H A 80& x 25000 » 6& 120
OAlSl A A NE 50& = 2,0000H 100
OOUXE MEI AMIEHE 23 400
-2 50,000& = 20 * 23] 200
S 50,000& * 200 = 23] 200
OFEUNHSE dRFE AQAHY| 3,370
-HIOIEEE EU 220,000& = 304 660
SDXMERE £
400,000& = 1CH * 23 800
-HAEH 70,000& = 108 = 23] 140
CCIVHEEEAN &2 2Z2tZelyd EY 1,455
2tet 300,000& = 1CH = 33 900
s 185,000& = 10 = 33 555
-SANEX 21,000& = 54X * 33 315
osg+3d 40,218
OFEFXZBEH E1d401E 500,000& = 8CH 4,000
ONEHEZRFUUHAY IS AEIHA
80 * 22,5000H 1,800
ORI dHEe &8 2,120
ot & 80& * 2,50001 * 23] 400
-Edot= 100,000& * 50 * 23] 1,000
“APADIEER 55 80& = 1,50000 » 65 720
O=2Y FIEXNUEZ DXAM 20,208
-ALAl S 2 A 90,000& * B6&HAF » 128 6,480
-2 BN XA 90,000& * 44X+ » 12& 4,320
== XA 90,000& * 44X » 128 4,320
-4 =2 S XA 90,000& * 44X = 128 4,320
-0l &l E A 80& = B8000H = 12& 768
OAlSl A A DE 502 = 10,0000H 500




EX: nSsEEY
M Hols ENEd X4
ol =FI Bel(REAY SEE) (el @e)
SRS (SH) - NBAY - BES O AF 04 %gg HRs2
OASIEN L AZSE FHUSS HES 1,600
-Z2dItE 80,000& = 2004 = 13 1,600
OUXEATD AMEEE2 237 600
-2 50,000& = 201 * 33 300
S 50,000& = 20 = 33 300
FHISHS HREFE A2FH| 8,094
Ao M ERIE EU
220,0002 * 304 * 43| 2,640
SDNMZRE Y
400,000& * 1CH * 33 1,200
-HA ElH 70,000& = 10 = 33 210
CCTVHEEEN 588 22tZelyd EY 2,910
-2t 300,000& = 204 = 33 1,800
- S 185,000& = 20§ = 33 1,110
-2 AE X 21,0008 * 64X} * 93] 1,134
Osg & 02t FEXUNHSEZ=A Z S|
6,000 * 5 x 42 * 128 *90% 1,296
OM3ATE 12,558
ORI dHEe g8 380
ot & 80& = 1,0000H 80
-89 100,000& * 3K 300
ONEHEZREUUHAY NS AEIHA
80& * 7,50004 600
O=2Y FIEXNUEIE XA 6,720
-AFA EE A 90,000& = 44X ~ 68 2,160
-2 8t N XA 90,000& * 44X » 68 2,160
-=Z1XA 90,000& = 24X *x 6 1,080
-2 E XA 90,000& = 24X *~ 68 1,080
-0l 2] &1 &H A 80 = 50000 » 6& 240
OASIENFNHE 50& * 5,0000H 250
OANBIEN & AZ2Z 2 =3I HE=2 1,200
-EdotE 80,000 * 1504 1,200
OUXNEAMED AMREEE A3 200
-2 50,000& =* 23l 100
-StH 50,000& * 204 100
OFEXHE dREFE AFH| 3,208
-diOldEEH EUY
220,000& = 304 = 23 1,320
-DIXAMEZSH EY 400,000 * 13| 400
- A H 70,000& =* 23 140
-CCTVHEEEAN ES28 22t=ZeyH EY 970
- 22t 300,000& = 2CH 600
. S 185,000& * 2CH 370




A WEHA
B Held FXEY E4
ol =FI Bel(REAY SEE) (el @e)
SRS (SH) - NBAY - BES ofl A2 %gg HRs2
-SAE X 21,000& * 64X * 33 378
02 =29l 941,380 899,413 41,967
o2 (22832 < HA) 43,668
o2 6,018
-S| 1,900& = 150 *» 128 3,420
-t 2703 * 500 * 12& 1,620
-SIlEts 2 1,630& * 508 * 12& 978
OQUESHE SSHEBANAE (X XX SXE
Z=H| 3,000,000& = 12& 36,000
OYME=X ©£E 0ls4 CCTV It AlA
g X224l 1,650,000& * 14 1,650
OMYIRHEH (2222 ¥ HA) 303,160
OSYH=FTI MWHZBIAIN L S=T 2T
= 101,532
= 1,900& = 3,000 * 12& 68,400
-l Bt 270€ * 6,000 * 12€ 19,440
-Solets = 1,630& * 700 * 12& 13,692
OSYHF=AEXUEHE 5 JIIMHX AISE
80& = 3,000 » 12& 2,880
OSYHFAEIUEE MNEINEEHE =2
150,000,000 * 2.7% 4,050
O=YHF=EHX S&EXE HMAM2023 7,379
-KFS XHAI(OFEFMEI ) 230,000 = 3CH = 13l 690
-AsSXHA(2E) 184,000 = 104 = 13 184
XS XA (IFLI ) 65,000& = 10 = 13 65
-EgtE g (stolBelE)
1,000,000& = 1O = 13 1,000
-ESsrE g (oFetmHl)  850,0008 = 3CH 13 2,550
-EEEE (22) 350,000 = 104 13 350
-ESEE L Y)
1,100,000 = 1CH 13 1,100
“HI|IZBA =2 48,000 * 504 13 240
-HEHSH=EIHet BEEE 300,000& = 4CH 1,200
WEXNESHEE XAl EESE
3,000,000& = 13l 3,000
SYHFEHI 2= JH2RYE SRS
120,000 = 553 = 12&8 79,200
SYHFEI RSN SAIE S X 51,400
203t SXNE 44,400
23 SHAH
900,000& * 1JHA « 12&8 10,800
2ot et =
40,000& = 351 « 12& 16,800
- EAH 40,000& = 3500 A « 12&8 16,800
-2019tnict b3 1,000,000& = 7CH 7,000




EX: nSsEEY
M Hols ENEd X4
ol =FI Bel(REAY SEE) (el @e)
SRS (SH) - NBAY - BES O AF 04 %gg HRs2
OFFNHEsT 2 ) 22|
2,300,000& = 9 20,700
OgAA JIZ2D] X
120,000 = 1CH = 123 1,440
OFHUNHSELRE=X HHISF X 1,841
-DAMEE DTl
6,578,720& * 104 * 6% 395
-dl 0l M ZelE 1,400,000 = 408 * 6% 336
-Z2tE gy 7,000,000& * 2CH * 6% 840
& K= AL 3,500,000& * 10H * 6% 210
- A 1,000,000 = 1CH * 6% 60
OXe Xl (Rhe - deHdl)
4,000,000 * 404 16,000
OS=XHETH CCTVIHMHI 2 8 X8 21|
3,400,000& = 404 13,600
O Z=EX UEHZE MEX BESA dFSE
Sll==g 138
-A=EESE 3,000& * 23A 69
-HHS=E 3,000& * 23A 69
OHIRH(B2E22 ¢ HA) 96,711
O=2YHF=EX YUElE XA & SE& 2H
23 34,170
-S| 1,900 * 2,000& *~ 6& 22,800
- Ht 270 * 4,000 * 6&¥ 6,480
-Solets 2 1,630@ * 5005 *» 6& 4,890
OSYZHI VHE U5 ABIC 242
250,000& * 6& 1,500
OSYHZTHI VEI2 28 JIAHE A2
80& * 2,000 * 6 960
Ogw=zX Lot 28 S422
140,000& = 333|& * 6& 27,720
O2Y FEX} RoSEIH02 AlE R XIHI 19,440
-209lMlet FANE S 16,440
- 2ESHAH 900,000& * 6& 5,400
2ot et =
40,000& * 2304 * 6 5,520
- EAH 40,000 * 2304 * 6E 5,520
-2013tnlct b3 1,000,000& = 3CH 3,000
OFFNUSsTZ ) 22|
2,300,000& = 3& 6,900
OgANA J}Z2D] 84X 120,000& * 6& 720
OFEHXUNHELR =X FHH R Y| 1,841
-0AM &8¢ Ty
6,578, 720& = 1 * 6% 395
-0l ZelH 1,400,000 = 400 * 6% 336
-2Z2tEgH 7,000,000& * 2CH * 6% 840
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3,500,000 = 6%
1,000,000& = 6%

X CCTVItOi 2t = X2 4=Hl

1,700,000& = 2CH

tEHE MEA 238 7SS

3,000& = 10
3,000 = 10

DN L S5F 28R

1,900& = 3,000 = 12&
2703 * 6,9008 * 12E
1,630& = 7508 » 123
28 IOt A2
80& * 3,400 = 128

ANEIIEHR =2
180,000,000& * 2.7%

fFHAS S
28,480 ~ 100 = 13
65,0003 = 104 = 12l
230,000& = 3CH = 12
241,550& 104 = 13

oy

i3
I

1,100,000

1,000, 000&
50,000&

M doES

3,000,

* 104

* 304
* 504

000&

* 13

o0t 28 Sde3

ra
4
w

003 = 823l » 123

Hu

o
e
o

St AER A

]

900,000& = 10HA « 123

40,000& * 640 A « 128
40,0003 = 6400 = 128

|5  1,000,000& * 7CH
08 |X

2,300,000& = 9&

S&H =X

1,000,000& = 7CH * 6%
170,000& * 5CH * 6%

210
60

3,400

60
30
30
372,806

105,426
68,400
22,356
14,670

3,264

4,860
5,376
29

65
690
242

1,100

3,000
250

3,000

118,080
79,240
72,240

10,800

30,720
30,720
7,000

20,700
471
420

51

=

i
2m




2N NSHE
MM mHels FUHY I4
chel: I 22 (nEAMNY SLE3H)
K- Z8 .S (3H) - MEAY - By S Aol i
OgAMA Jt3D] Xl
120,000& = 10H * 123] 1,440
OFExHE A & HHI KX 1,349
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OHs, SREHN ZH Y 224l
8,000,000 = 2J0 A 16,000
sus HoYANLE &5 529,107 702,077 N 172,970
201 et 9| 3,500 0 3,500
02 3=2249H| 3,500 0 3,500
oadA 1,500
OZ2NEET(SXZSHHAEE) 3ldl &8 1,500
AU A SIHS2 227000 A)
1,500,000 1,500
CEEEE 2,000
OZ2HNES(EXZSHAEE) 3lH 4= 2,000
AU A SIS 2 EH (40000 &)
2,000,000& 2,000
401 Al H|IZL 2 0HY| 525,607 702,077 N 176,470
01 A& B 522,032 698,632 A 176,600
(OF=F=S] 35,000
OSKBIOI S ABFEH JIssAF & SHAISZEE 4
Xl 2 Ak 15,000
-2 & 41X 15,000,000& = 14! 15,000
OAUWHA LEDE A X E X & S22 ]
20,000,000& * 14! 20,000
oMYA 168, 182




SN DEHEY
My MANDESS X
tHe: Hsnsgds L MHlA e (REMY SE3H)
SN EHH-G(BH) - MSEAY - BaS Ol &k o8 i
ONWHA Rois2s 4 2 oA
12,000,000 * 402 48,000
OAMUHA SIHsZE 2+ & FHl
150,000& * 2004 & 30,000
ORMNSLE EHYHLED =HE & L E= 16,600
A E= 1,300,000 * 100 & 13,000
-8 120,000& * 304 & 3,600
ORNESLE Y0l X (S=AIH)
2,000,000& * 150 A& 30,000
OALIHA s2E E4 43,132
-s2% =&AL 16,0003 * 2634 * 23] 8,416
—suW YuEL
3,000& * 263 & * 443| 34,716
OANUHA S2E HEAHA(SEA)
150,000& * 300 A& 450
OFJAFE 20,700
OAUHA SHs2d X & w0
12,000,000 * 10H2A 12,000
OANMUHA SIHSsSZE 2+ & FHl
150,000& * 50H A& 7,500
OFNESLE HYF LD 2SS 2=
120,000& * 1000 £ 1,200
os49+3& 279,550
OANMUHA SHsZE &X1 2 wiH
12,000,000& * 100H & 120,000
OAMUHA s2E 2 & F|
150,000 * 2004 £ 30,000
OSHN&EZE BHLHLEDEES 4X L B+ 25,500
B! 1,300,000 * 15JH & 19,500
-2 120,000 * 504 & 6,000
OAMUHA 2201 & SA4ESI| &4
1,200,000 * 2004 & 24,000
OANUHA S2E Ea 65,600
-S2d& 2&F A 16,0003 * 40000 & * 23] 12,800
S detEa
3,000& * 400002 * 443| 52,800
OANUHA S2E HE HB(SEA) 14,450
-HAs2E 150,000& *» 1100 4 1,650
-~ HOHE 80,000& = 1607H A& 12,800
OMAPH 18,600
OANUHA s2E 2
150,000& = 1007H & 15,000
OFNESLE HYH LEDZES B
120,000& * 300H A& 3,600
03 Al 20HHI 3,575 3,445
os49+3& 2,013




SN RSB
kS

M MEDESH HE
o4 snsgds € AblA Hd(nsSAg SE3H) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
OAUHA RIHSZE AX L EAY Al
& 20| 279,550,000& * 0.72% 2,013
OMAPHE 201
OANMUHA SHSZE X & E=AE Al
& 20l 18,600,000& =* 1.08% 201
oasH 1,211
ONUHARNSTE &3 L 2HLAY Al
Lol 168,182,000& * 0.72% 1,211
OFATE 150
OANMUHA RIsZE £X & E=AE Al
20| 0,700,000& * 0.72% 150
HFEE AMUHARS Hds =Xz 29 14,000 14,000 0
207 I Hl 14,000 14,000 0
01 AR EAHI 14,000 14,000 0
OBEHA AUKHARD CYs 2NSH B
(& 350%, &50%) 28,000,000& * 14 x 50% 14,000
Al BEEM SJ1HE =8 25,000 0 25,000
207 &R If 2t 25,000 0 25,000
01 AR E Y| 25,000 0 25,000
OSEHZA0O HZE HASHME A7 2Y
(M= 50% H& 50% 25,000
50,000,000 * 14 * 50%
NEFEMAR 2l (LSAY SEH3IA) 6,406,811 5,956,993 449,818
nsdss el 3,455,135 2,444,683 1,010,452
201 et Y| 1,399,795 1,322,658 77,137
01 AR 22l 2,316 2,280 36
ONsSdIBHH A2 L SAMELN 7L 2,316
O=AMIIEH 260,000& = 1CH » 63 1,560
O=AMEX 21,000 = 32tA « 12& 756
02 222l 1,397,479 1,320,378 77,101
o=& 1,122,199
OQUEFEHH(BES2=2 ¥ HA) 314,697
N33 50,000 = 3CH = 12& 1,800
-&IIR3 7,700,000& = 12& 92,400
-ASHAI E23H AB=E
24,000& = 5603 & * 12& 161,280
-Moi =+ ZKHalbl 800,000& * 13| 800
-2HI| ABEZ 42,9003 * 400 » 128 2,060
-CCTV S4& &2 U=
2522 x 3,603m * 12& 10,896
-CCTV & 83ld A=
92,4003 = 4100 » 12& 45,461
OQustss FLUKHNMEH =2 34,742




2N NSHE
HH: HADE2Y FE
el DEFEMAEY 22l (nSAMY SE3H) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
A S H A DI 48,7003 = 380CH 18,506
HSSE=F 8,200& = 1,980 16,236
QUSHSHOAHAAE =X =4I
20,000,000& * 12& 240,000
OWSASHA Jls2gall
20,000,000& = 12& 240,000
OnEXCIZEANAL(TGIS) RXE 24| 228,750
-Jl REEZ2 0/B RANES
125,000& = 1,038km 129,750
-NEEZ 0/B = 300,000& * 20km 6,000
—AAE ST E 2= (H/w, S/W)
4,000,000& = 12& 48,000
&S S &S 0/B 5
3,000,000 = 15km 45,000
OunsZAatoet &X =4l
30,000,000 * 40CH * 2/100 24,000
OLnsasd SN2t
20,025,000& = 10 = 4/100 8,010
OQuUSFEHH AdEH S b 3,280
-gzas)l 12,000,000& * 3CH = 8/100 2,880
=A== 2,500,000& = 2CH = 8/100 400
OREN HIASSEX KA
36,000,000& * 2CH * 6/100 4,320
OunsdsHA HAE 24 - EIF &EHy|
40,000,000& * 61% 24,400
(OFSg=Ep= 73,260
CunsEdtss dILa
37,0002 = 165004 = 12& 73,260
OF=FBer= 24,420
Cusdtss M3
37,000& * 11004 * 63 24,420
(OF=J=EPs 133,200
Qusdtss dllea
37,0002 = 300004 = 12& 133,200
ONERH 44,400
Cusdtss dIe=s
37,000& * 200014 * 6 44,400
206 M 24| 18,550 0 18,550
01 = dl 18,550 0 18,550
OWEMHI EXtM & 18,550
O 2 MO &XI(CPU) 1,000,000 * 5JH4 5,000
OAIS H O & XI(SUC) 500,000& = 54 2,500
OXAFX EZ=E (POWER) 500,000 * 54 2,500
Odls=4d & 250,000 * 50 1,250
OSAEX(SIVEE) 4,300,000& * 14 4,300




2N NSHE
Bu: MNDESH B
el DEFEMAEY 22l (nSAMY SE3H) (tel:®3J)
SH O (BH) - NEAY - B Ol &k i HRS2
O S &I & XI (MODEM) 600,000 * 54 3,000
401 Al HI YL 20U Y] 2,036,790 1,122,025 914,765
01 Al & Hl 2,031,600 1,118,000 913,600
OHrSSE=: 258 s820s 2L AME
=N 45,000
Oxgsss = 120,000& * 30074 36,000
O2dgess = 60,000 * 15004 9,000
Oustss FXE=Hl 450,000
(OE=35 500,000& * 8,000& * 6% 240,000
OtSESF 1,000,000& * 3,500= * 6% 210,000
otlss &X 180,000
OulEJ(ald) &X 50,000,000& = 34 150,000
OgdEs(4d) 41 6,000,000& * 54 30,000
OL%E WEANSHAHI WA
8,000,000& = 15CH 120,000
OAN2AHIY SHASI 24T A
150,000 * 200K 2 30,000
OEHUETE LEDIIZES M3 AH
1,650,000 * 1007H 2 165,000
O0RO0l 257 S4M ASS X
5,600,000& * 699 & 386,400
ONEHZHE AIE HEZA 35,200
OFREH MIAEXE SEX LA
440,000& = 80 35,200
OWSKIZIHBAAE(TGCIS) Jssd L D&
3t 620,000
OMdH & EHZY 182,000,000& * 14| 182,000
ONEZHBANAE JHYE % 0/8 Ha
230,000,000& * 14 230,000
os/n &=¢ 208,000,000& * 14! 208,000
03 Al 2 THHI 5,190 4,025 1,165
OuSANEZS E&XAY R0
1,441,600,000& = 0.36% 5,190
HAZBAAL(BISAY =2 2,626,607 1,797,770 828,837
201 L2l 791,022 731,892 59,130
01 At 22|l 3,450 3,140 310
OHAZENH #dZ2IAR &I 3,450
OZgHe EY 220,000 = 2CH * 43| 1,760
O&X=AI EYH 260,000& * 1CH * 33 780
OBAMESEI EH 70,000& = 1CH » 43 280
O=AMEX 21,0003 * 32A « 102 630
02 E==2gHl 787,572 728,752 58,820
OHAREBAAH 2223 E HA 413,548
OS & G0l EHY (0BE) 95,040




Sk

nSHF
By DS
el DEFEMAEY 22l (nSAMY SE3H) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
-0BE 19,8003 = 400CH » 12& 95,040
OHAZHAAE DEIP AIEE
118,800& » 12& 1,426
OHAFEOHLII(BIT) ®IIR2 83,130
-JI&E 17,000& » 390CH * 12& 79,560
—&l 7 17,000& = 35CH *~ 6& 3,570
OHAFEBOLII(BIT) S4 223 156,480
-JI&E 32,000& = 390CH » 12& 149,760
—&l 57 32,000 = 35CH » 6& 6,720
OHAZBHE 2INFESAY 012 (20M)
2,200,000& = 12& 26,400
OHAFHESHE M83lHd (128k)
1,856,000& » 12& 22,272
OB AAZE 22|01 SMS Ol2&
150,000 = 16& » 12& 28,800
OHAEEANAEY SANES 374,024
OBHAFEEOHHII(BIT) RAES 208,898
-JI&E 3,255,818,468& * 6% 195,350
WA Y Al 903,148,4003 * 6% * 3/12 13,548
OXeESHLII(0BE) RAE=
458,568,000& * 6% 27,515
OLHdBMSHAD RAES
218,871,000& * 6% 13,133
OANAE2IEH 72+
763,238,320& * 6% 45,795
oggLz Ny RNE+
510,637,000& * 6% 30,639
OHAZFEECUI AMEEE SZ4 A2
15,000,000& * 14| 15,000
OBHAFEOHWHDI| HIOIHA BHAl
25,4103 * 387CH 9,834
O2ct= DBMS 105,500,000& = 0.22 23,210
401 Al HI L 20U HI 1,835,585 1,062,878 772,707
01 A& Hl 1,829,000 1,059,000 770,000
OSEHFTA HAHBAAEH(BIS) JIsE2Y
00,000,000& = 1Al 600,000
OHAFZOHUDI(BIT) & & = A 709,000
OHAFE oL (BIT) A7 AX
14,000,000& = 2004 2 280,000
OHAFEHHII(BIT) Ol ™ & X
3,000,000& * 3004 9,000
OHAFEE SHLHII(BIT) == Al
14,000,000& * 304 4 420,000
OAMUBHA A= HE(LCD) &R
1,250,000& * 416CH 520,000
03 Al 2 THHI 6,585 3,878 2,707




SN REBFD
By DS
el DEFEMAEY 22l (nSAMY SE3H) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
OHAZSBAAE AGFZT AlE20UHI
1,829,000,000& =* 0.36% 6,585
B NS2ACAIAE 25 325,069 1,210,940 A 885,871
201 B2 F bl 173,989 106,980 67,009
02 2224l 173,989 106,980 67,009
OFHNsSHAAEY 322 & HA 104,700
OFHUSZCANAE CAIHUE IIEESA
2 0l E = (20M) 2,200,000& = 12& 26,400
OL#I| X = (DSRC-RSE) SAIL =
32,000& = 75004 + 12& 28,800
OXSEHSHTOIAII (AVI) SN2
32,0003 * 104 =12 3,840
OXSEHSHOIAFI(AVI) I3
40,0003 = 104 =12 4,800
OSZHMFEXIE(WMS) SAe=z
32,0003 * 1500 * 12& 5,760
OSZMFEXB(WS)EIIR2 27,360
-2 A4 120,000 * QM4 = 12& 12,960
S g4 200,000& * 6 * 12& 14,400
Odotiet Sae32
43,0003 * 1500 * 12& 7,740
O&ECtNS2CIANAE RANE> 69,289
OXedHs AMIEII(AVI) RANE=
133,713,800 * 6% 8/12€ 5,349
O 2HFEX(WS)R X 2=
372,977,300 * 6% 8/12& 14,920
O % ¥ I| Xl = (DSRC-RSE) R X & ==
337,817,400 * 6% * 8/12& 13,513
OUHGIEA N SN2+
350,402, 117& = 6% 8/12& 14,017
OUHHUERD RANES
80,433,400 = 6% » 8/12& 3,218
OMELTEY N RAES
130,522,766& * 6% * 8/12& 5,221
OQUHHAZEY N RAES
272,022,191 = 6% = 8/12& 10,881
OAZATERN HAl 2,169,920& = 14 2,170
401 Al Bl & 2 08I 151,080 1,103,960 A 952,880
01 A& HI 150,000 1,100,000 A 950,000
OwWEdE YHOoleH 2HAAHY 25
150,000,000& * 14 150,000
03 Al 2 THHI 1,080 3,960 A 2,880
ONERE YHOIEH 2HANAY 25 AL
Hl 150,000,000& * 0.72% 1,080
LNESYE3H S22 (NSAMY SE3H) 156,760 166,476 AN9,716




2N NSHE
By NADESS
el NESYEI ) SEF+RI(nEAMY SEH) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
Hel=g MEgH SE 22 156,760 166,476 AN9,716
201 L2 | 145,000 145,596 A 596
01 AR 22l 68,010 68,606 A 596
OMA+L(FEXNLHE S)DXMH W&
773 + 650,000 50,050
OMYH Hel(HI LR, 2SMUR, IX)HUH
= Nz 773 + 150,000& 11,550
OMgd Zel g8 &% M
100,000 * 544 * 23] 1,000
OEUHTY 88,000& = 104 880
O=ALE X 21,0002 = 508t A 1,050
OYASI XN =2 1,000& * 50004 500
O3 HHZTS =22 2,000& * 50024 1,000
OHIEF(HESF) 90& * 10,0000 900
ONYUTEEN S|
6,000& * 2% = 10 * 103 * 90% 1,080
02 2224l 76,990 76,990 0
O RHERB 76,990
O&I 1,900& * 4,700 8,930
Ooget 2702 * 240,000 64,800
OsJletsz 1,630& » 2,000 3,260
202 04 HI 2,160 2,880 AT20
01 2L YI 2,160 2,880 AT20
OXNg&d+= EHAH 2,160,000& 2,160
303 Z &3 9,600 18,000 A 8,400
01 A2 9,600 18,000 A 8,400
OXNgH = Loz 400,000& * 28 » 12& 9,600
NREegds(usad) 2,351,070 2,261,341 89,729
HEANAXNES(LSAME SE3H) 2,351,070 2,261,341 89,729
ANE2e| S 293 2,351,070 2,261,341 89,729
309 8ES 2,117,470 2,166,841 A49,371
02 SAt- SHILEES 2,117,470 2,166,841 A49,371
OANEZ2BH FIUAMY 2IHIEX
2,117,470,000& 2,117,470
404 IS H2HE2 233,600 94,500 139,100
02 At - SHAEEES 233,600 94,500 139,100
OAd2eBE FIAAY UH2IHEX
233,600, 000& 233,600




A & 0o & AF S 8 A A
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SN BFANMNZSSAY L
X

. HYS2AHH(AHSSALLA)
S Jl2d(nsSAE SE3H) (tel:®3J)
2 - (4
SM-RH.O9(3H) - NEAY - BES Ol & o G HIDE2
BFANESEMS 660,659 616,088 44,571
HHESIHEH (NHFESSAIEA) 63,548 61,980 1,568
Jl2dbl(NESAME SE3H) 63,548 61,980 1,568
Jl2&Hl 63,548 61,980 1,568
201 L2l 27,908 28,380 NAT2
01 At 22|l 27,908 28,380 N4T2
Ol =AU (JIE2Hl)
13,220,000& 13,220
o=l (J1E=&Hl)
6,000 * 34 » 80 * 90% 14,688
202 44| 35,640 33,600 2,040
01 =LHO HI 35,640 33,600 2,040
O=2U0obI(OIEZHl)
20,000@ * 33% » 90 * 60% 35,640
HENEESEE 597,111 554,108 43,003
NsSx SS2e(NSAY SE3H) 597,111 554,108 43,003
AAsSIAHSELRS g8 29 490,239 471,872 18,367
101 el bl 107,171 162,054 A 54,883
04 JI2ZtHZ2NSE =+ 107,171 162,054 A 54,883
OBH+Y U ARSE, S=EAR 23
41,6803 * 1% = 252 « 10 10,420
OXZTOIE Farele
41,6803 * 29 * 252 = 10& 20,840
OHEIAH HLUH
41,6803 * 198 = 252 = 10 10,420
OMYEUENE 2UES
41,6803 * 29H x 252 » 10& 20,840
OXsSI HEM XM &
41,6803 * 18 = 26 » 10& 10,420
OXt=sIHECHH & RIBFARY & A H
41,6803 * 1% = 252 « 103 10,420
OsYxE NS & ZIIHA HHEX
41,6803 * 18 = 252 = 10& 10,420
QJI2ZHZ2= 4 YE SOt
200,000& * 9% =* 23| 3,600
OJI2ZtHZ2X B8 AUAXNSHMEES 9,791
Oo=gas3z 93,780,000& * 4.5% 4,221
O=0142d2d 93,780,000& * 2.945% 2,762
O¥}INIEH 2,762,000& * 6.55% 181
ons:sd 93,780,000& = 1.5% 1,407
Ot Ea 28 = 93,780,000& = 1.3% 1,220
201 B2 F | 296,530 255,803 40,727




A EFANIIES
B dEWNSEE

el A SE2e(RDSAY SE3H)
B E9(32) - MIREAY - BES of & o i
01 At2 22l H 125,612
OxgdsE dI=Z 3| 125,612
OdLFHH A2F 2¢ 16,672
Aoz EU
260,000& + 1404 = 13 3,640
-AAMES ZelH EY
500,000& * 1CH = 53 2,500
-“HAEH 70,000& = 504 * 63l 2,100
-—=SAJl EY 260,000& = 3CH » 52 3,900
-IBJ BE 528,000& =+ 44Xt 2,112
“MESSAI Z2EX 110,0008 » 10& Xt 1,100
-EANEEE E3J1E4 33,0003 * 40H 1,320
OogeUd =2 5,620
-3tk A 400,000& * 13 400
AN A2 150,000& = 122l 1,800
~@olotE e (EASE
110,000& = 122l 1,320
“ANYSEALYL ASAFEI £48
400,0008 * 23] 800
SEAUY 2AHA 242
1,300,000& = 13 1,300
ONSXAHSAHS & X = 7,000& = 400% 2,800
ONSXHSES HG M 5008 * 10,0000H 5,000
ONSXNSMEY L S ol B4
70,0003 * 400 * 4%] 1,120
OAHEIHEZEMN HEE 8,000& = 5000H 4,000
OXsxzelg #7Y 80,000& » 52 400
ONtSXsSE2E AA o) 49,830
MR, HE 0SS UEM 95
3,500& = 100& * 9& * 23| 6,300
-NEE 25 MEM 25
3,500 = 100& * 2& « 23| 1,400
Mg, A AL, 00EXRSA 175
3,500 * 20& » 178 « 23| 2,380
-ASTHE AR U R DtEHE fWUIXAM 5
ES 80,000% = 2& Xt » 55 * 33| 2,400
-OREE o ¥ NEHE FUDXNM 53
80,000& = 2& Xt » 55 « 33| 2,400
-NSXHLESHA 353 + 40,00000 * 23 2,800
-ASUHSES 70& * 40,00001 » 22 5,600
-HESASSER 403 = 40,0000 * 32l 4,800
-FEE2YXNE AHAXSER U2
250,000& * 24K » 28 1,000
-SYHIIE HEEE tUE
250,0008 * 3&tXt * 18] 750




A EFANIIES
B dEWNSEE

S ASXt EE%OE_QDL%M%* S4g3) (&&= &)
SH O (BH) - NEAY - B Ol &k i HRS2
-FHSMAMDEREE DA
80,000& = 150&f Xt 12,000
-=ANZ2XA 80,0003 = 504 &t 4,000
-S=0XAM 80,0008 * 504t Xt 4,000
SEEEENEERTSGETINEEENE
I === 3,600
-AFESE =2 3,000& * 60024 1,800
—gFHM === 3,000& * 60024 1,800
ONHE MY 2ZEI ==&
250,0008 * 53| 1,250
ORSH ZHHE 442
11,000,000,000& * 0.11% * 50% 6,050
Ooet =<0 1 =tl
90,000& = 2¢& * 39H 540
O3JIE&EI & d2d=) 2Xz
48,7003 * 500 » 128 2,922
O&dTt=E H 7,800 x 773 *x 123 7,208
O&XUHILFANLE 02
1,550,000& = 12& 18,600
02 22=2Ztl 170,918 158,761 12,157
o0=2=22= % HMA 145,158
ofEE3a 119,220
=PI 1,900& » 2,5008 = 12& 57,000
- Bt 2702 = 15,0008 » 12& 48,600
-SJlgts g 1,630 * 6008 *» 12& 11,736
-HE3SY 3,140% = 50& *12& 1,884
Oo®IIe=a 1,200,000& = 12& 14,400
OoNze=a 50,000& = 500 = 12& 3,000
OfIdgErdez 25,000& » 12& 300
OMEXYE HSHIAXNIRE SRS
55,000& = 10H = 12& 660
QOelHYUNH 3= 35,000& » 12& 420
Oiot=ER3 185,000& * 12& 2,220
Ostdd g3 60,000& * 23| 120
QuEsYeda 200,000 * 13 200
O2xgot™E 3| 48,000& * 13| 48
OS2 HSRA MEESEE Ity
100,000& » 3Y¥ 300
OZEXYE MAMIS=z 2,350
-SEEE(SER) 350,000  1CH 350
-SEEE (32X 650,000 = 1CH 650
-2dUEE 50,0002 = 29 * 12& 1,200
-Xt=S XA 150,000& * 13 150
OXtsitZeld, EUtHEABLLEHES 2 IJta
HE MEBEZ 80& * 2,000 * 12& 1,920




A EFANIIES
B dEWNSEE

e NS EE%OE_QDL%M%* S35 H) (&)
SRS (SH) - NBAY - BES O AF 04 %gg HRs2
O™ =4l 1,970
OO0I3 A e 1,970
-2 S0
1,368 * 20 = 8Al2t ~ 104 = 90 1,970
O A& &Hl S XYl 17,322
O&FH 1,500,000 = 51CH * 6% 4,590
OZ gl 750,000 = 39CH * 6% 1,755
O XK= AL 3,700,000& = 30H * 6% 666
Ol =] 1,265,000& * 6CH * 6% 456
OR A S| 1,500,000 = 504 * 6% 450
O MM 1,500,000& = 2CH * 6% 180
OLNXNAMN & =2y
8,000,000& * 10H = 6% 480
OSNMEED| 6,600,000 * 1CH * 6% 396
OHYHSEAC) 2,200,000& = 1CH * 6% 132
OE=z s8] 5,850,000& * 104 * 6% 351
O duer)| 3,700,000& * 9L# = 6% 1,998
OREENESA2CAAE SAES
97,500& * 12& 1,170
OXDXN2ez20d SANES
9,000,000& * 14! = 6/100 540
OBHSTHAIAAE S22
4,158,000& * 14 4,158
(OPNE=FaR=las] 6,468
OoasXE S Xl 3,234,000& = 204 6,468
202 (4] 2,040 2,040 0
02 2SNl 2,040 2,040 0
OAAI|H =D | 50|
170,000& = 1Y = 12& 2,040
207 A O | 30,000 0 30,000
02 & AR EHI 30,000 0 30,000

g= 30,000

20,000,000& * 14 20,000
O RESUSAUHSXACIANLE SEIH
10,000,000& * 14 10,000
301 deEt2a = 18,798 19,275 NATT
08 SAZ2RRIABHS 18,798 19,275 NATT
OXNSXESE &7 X 18,798
OZUZERE 2o= 18,798
—-QI 24| 105,800& * 5% = 123 6,348
-S4l 6,0008 * 5% » 26¢ « 12& 9,000
-u SHl 2,3008 = 53 « 256¢ « 123 3,450




A EFANIIES
B dEWNSEE

telr AHSx SSs2el(nsSAg SEaH) (tel:®3J)
2 - (4
SA -G (3H) - NEAY - BES 0l & G bl RS2
405 AHobF SHI 35,700 32,700 3,000
01 MR =EEFHS 35,700 32,700 3,000
OHFANRE H 35,700
oz &Fd 1,300,000& = 150K 19,500
OdioI =g H 1,500,000& = 10CH 15,000
OFAX 600,000 = 2CH 1,200
otM G WA S FH A 106,872 82,236 24,636
307 @I2+ol & 102,972 82,236 20,736
05 QI”tRIE = 102,972 82,236 20,736
ORI dHIAlIA
190,000& * 128 2,280
OXSESEAY X i
000& = 1¥ = 123 24,552
oxnzss oA
,000& * 39 » 12& 76,140
401 A& HIZ 2018l 3,900 0 3,900
01 A& Hl 3,900 0 3,900
OCIAF=XE DRI =yl
65,0003 = 60M 3,900




